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(1) Figures to the right indicate full marks.
1. Attempt any five of the following : 2 each
(a) Find the Laplace transform of 2 = e
(D) Show that :

—as

Llut— a)l=—.
s
@) Find :
el Q)
L«z + 16}
(d) Find the inverse Laplace transform of :
3s
2s+ a

P.T.O.
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Find the Fourier sine transform of :

fx)=1,0< x< a

=0, x> a

() Define Fourier cosine transform of Ax).
Attempt any two of the following : 5 each
(a) Prove that :

‘ 1

LH ﬂt)dt} =~F(s)
where

LLA(D] = F(s).
(b State and prove second shifting theorem for Laplace transform.
(o Evaluate :

L {e_“ &311

t

Attempt any two of the following : 5 each

(a)

()

()

Find the inverse Laplace transform of :

s6 9% + e
s +m?

Obtain :

11 3s5+1
(s—D(L+1D |

d d

Solve the differential equation T 5y=0, given y = 2,
dx’ dx

dy

e =-4 at x = 0. Use Laplace transform.

C62AB814A7072AD6AE18ASA7TE352BD36



WT ( 3 ) AO—52—2018

4, Attempt any two of the following : 5 each
(a) Prove that :

%= i T e duj_[of(t) e’ dt

(b If F(s) is the complex Fourier transform of fx), then prove that :
F{fx) cos ax} = é [F(s+ a) + F(s- a)].

) Find the Fourier sine transorm of fx) = e 4%
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